Given: A triangle with angles 21, £2 and £3.
To prove: |£1| + | 42| + |£3] =180°.
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Construction: Draw a line through A, Proof:

parallel to BC. Label angles 4 and 5.

|£4] + |£1] + |£5] = 180° Straight angle
|£2] = |L4] Alternate
|£3) = |£5] Alternate

=> [L4]| + |£1] + |£5] = |£2] + |£1] + | £3]
= |£1]| + 42| + |£3| = 180°
Q.E.D.




Given: A triangle with interior angles £1, £2 and 43, and

an exterior angle £4.
To prove: |£1| + |£2| = | £4].
Proof:

|£3] + | 24| = 180° Straight angle

|£1] + |£2] + |£3] = 180° Angles in a triangle
= |£1] + |£2] + |£3] = |£3] + |£4] Both = 180°

= |£1]| +|£2]| = |£4] Subtracting | 23|

Q.E.D.




Given: A parallelogram ABCD.

To prove:
(i) |AB| = |CD| and |BC| = |AD| (opposite sides are equal)
(i) |£ABC| = |£LADC|, |£BAD| = |£BCD| (opposite angles are equal)

Construction: Draw the diagonal [AC].  Proof:

: = R

|£BCA| = |£CAD| Alternate
|AC| = |AC| Common (shared)
|.BAC| = |LACD| Alternate
= ABAC = AADC ASA

A D — |AB| = |CD| and |BC| = |AD| | Corresponding sides
Also, |£LABC| = | LADC| Corresponding angle
Similarly, | £BAD| = | 2BCD|
Q.E.D.




Given: A right-angled triangle ABC with | ZABC| = 90°,
To prove: |AC|?= |AB|*? + |BC|".
Construction: Draw BD L AC.

Proof:
Step 1
Consider the triangles ABC and ADB.
B
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|LABC| = |ADB| | 90°
|£BAC| = |£BAD| | Common

. AABC and AADB are similar.
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AABC and AADB are similar. | Construction
|AC| |AB| Theorem
~ |AB| T |AD|

= |AB|.|AB| = |AC|.|AD|

= |ABJ* = |AC|.|AD|




Step 2

Consider the triangles ABC and BDC.
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|£ABC| = |£BDC| | 90°
|£ACB| = |£DCB| | Common
. AMBC and ABDC are similar.
Step 3

|AB|? + |BC|? = |AC|.|AD| + |AC|.|DC]|

= |ACI.(|AD| + |DCJ)

= |ABJ? + |BC|? = |AC|.|AC| (Since |AD|+|DC| = |AC])

|AB|? + |BC|? = |AC|?

Q.E.D.

AABC and ABDC are similar. | Construction
|AC| |BC] TH
=~ |BC| ~ |DC| eorem

= |BC|.|BC] = |AC]|.|DC]|

= |BC}? = |AC]|.|DC|




Given: A circle with centre O and an arc AC.

A point B on the circle.
To prove: | LAOC| = 2| LABC|.
Construction: Join B to O and

continue to a point D. Label angles
1,2,3,4,5and 6.

| LAOC| = | 25| + | 6]
|LABC| = | 22| + | 23]

Proof:
|OA| = |OB| Radii
|£1] = |£2] Isosceles triangle
|£5] = |£1] +|£2] Exterior angle

Similarly, | £6] = 2|£3]

|£5] + |£6] = 2|£2| + 2|L3]

= |£5| + |£6] = 2{|£2] + |£3))

|LAOC]| = 2|LABC|

G.ED:




